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Pierre X. Angleys

Descendance de
Jean-Marie
Angleys

(jusqu’en 1991)

& Naissance Masculin

© Naissance Féminine

Angleys - Généalogie simplifiée

€

t Déces
co Mariage
—x Lignée
Jean Marie 1¢r baron Angleys | | 1° Turin 09.06.1842 Louise Avet @ Chambéry 31.01.1821 - t Chambéry 29.03.1863
& Termignon 11.10.1813
t Chambéry 02.02.1886 ¥ | 2° Chambéry 17.01.1867 Césarine Viallet de Montbel
s.p. Q Chambéry 30.01.1831 - + Chambéry 28.04.1912
¥ ¥ 4 4 ] Y
Ferdinand 2¢me baron | | Paul Angleys Léonce Angleys Lucie Angleys Auguste Angleys Louis
& Barberaz 23.05.1843 | | & Barberaz 14.08.1844 | 3 Barberaz 16.10.1845| |Q Chambéry 03.03.1848| | Barberaz 31.07.1854 | |3&t Barberaz
t Barberaz 30.04.1936 | | t Paris 17.01.1915 s.a.| | 1 Mieudry 21.06.1937 | | t Nervi 13.05.1891 t Chambéry 14.06.1917 | | 17.11.1855
l
%| 07.09.1875 Ursule 03.06.1890 Magdelaine| ©/10.02.1870 Paul d’Oncieu 27.12.1882 Jeanne
(de) Novel Portier du Bellair de Chaffardon Rivérieulx de Chambost]
Q Die 27.01.1856 Albertville 14.04.1859 & Chambéry 12.11.1843 Q Bassens 12.06.1854
t Barberaz 15.09.1925 t Lausanne 22.04.1917 t Chambéry 17.02.1907 t Chambéry 05.06.1926
Jean 3¢ baron |(Henri Emilien || Paule Marthe Marie Louise|[| Henry Hippolyte ™ [Efisabeth (Lisette
3 07.04.1877 |(3 01.08.80|3'31.08.82|| ©18.02.1885 ||| 12.08.1886| | 24.03.1888 |||3 03.09.1893| |3 29.07.1895 Q 04.10.1897
29.03.1955 ||t 08.03.81|t 06.09.82||t 03.08.1975 |||t 07.10.1949| |t 04.04.1888 |||t 22.08.1952 | |t 02.08.1975 t12.06.1918 s.a.
{ 30.05.1912 23.04.1912 < 06.07.1917 19.05.1921 | |28.08.1923
Marie s.p.| Joseph de Jean de Denyse Canat|| |Yvonne Veyre =
de Buttet Lachaux Lachaux de Chizy de Soras E
@ 13.04.1877 & 28.08.1875 & 28.10.1881 ? 11.03.1900] | | 14.08.1897 | L %
t22.09.1966 t25.01.1948 t28.06.1965 118.03.1991 || |117.12.1968 | =
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